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** Directions for questions 1 to 5: These questions #ﬁ‘@ _ Pk
are based on the following information.

¢ - &veen

Seven persons — D, P. AL U F. B and S — are _ Yollyeo | S
comparing their weights. No two persons are of the :D/ A T I
same weight. -
P i1s heavier than D and lighter . A an re S é‘-.od, .
lighter than U but nei is_the lightest. D is ¢ - B = GT‘”(]' Weave?
heavier than U. F is lighter than B. o (?/ s
Each person likes a different colour. U likes red colour. D @ I\L
The second lightest pe ikes black colour. B is —
heavier than only the person who likes green colour. LL/ €
P"is heavier than the persons who like yellow colour 61 P /
and white colour. The person who likes grey colour is & @I A
heavier than the person who likes blueTolour— —

—elaek
The fourth lightest person weight is 62 kg. The weight St 6/
of theé person who likes black cotour is 54 kg F
The weight of the person who likes yellow colour is — G‘ﬂ"w

more than 62 kg.

1. If P’'s weight is 70 kg then what can be the weight
of the person who likes yellow colour?
(1) 56 kg (2) 58 kg (3) 74 kg
(4) 72 kg 2] 66 kg

2. How many persons are lighter than the person who
likes white colour?
(1) One (2a/+wo (3) Three
(4) Four (5) Five

3. Which of the following person likes blue colour?
(2/2% (2) U (3) A
( (5) D

4. Four of the following five are alike in a certain way
and hence form a group. Find the one which
does not belong to that group.

(1) P-Grey (2) A-Red Q)/(— Black
(4) U-Yellow (5) D-Blue

5. Who among the following is heavier than B and lighter
than D
(1 (2 P (3) s
4) B (5 E



*%* Directions for questions 6 to 10: These questions
are based on the following information.

Six personspurchased different
items one aftér the other! but not necessarily in the

same order. Each of them purchased different items

among Laptop, Printer, Toy, Phone, Book, and Lamp,
but notnecessarily in the same order.

E‘Only two an item betw
he_person who purchased toy. Neither H nor the

persqn who purchased toy, purchased either first or
last_[The person who purchased phone purchased
immediately after N. Nel rchased phon r
N purchased toy. No person purchased before the
person who purchased lamp. The number of persons
who purchased between the persons who purchased
lamp and toy is the same as the number of persons
who purchased between T and K_P purchased either

booK or printer.

The person who purchased laptop purchased befere

the_person who purchased toy hut not befere the
person who purchased book. T_did not purchased
immediately before the person who purchased book.

6. How many persons purchased after the person who
purchased laptop?

Three (2) Two
(3) Four (4) One
(5) Noone

T- Wq)h/oﬁpurchased immediately after K?
¢ 2P GE @OHOH OT

8. Which among the following persons purchased book?
MK 2N 3 E @4 P H

9. The number of persons who purchased before
E is the same as the number of persons who
purchased after?

(1) _-The person who purchased book.
\,&)/ The person who purchased laptop.
(3) The person who purchased printer.
(4) The person who purchased phone.
(5) The person who purchased lamp.

10. Which of the following items was purchased by the
person who purchased second from last?
(1) Laptop (2) Book
(3) Toy (4) Phone
Printer

Choorr



*% Directions for questions 11 to 15: These questions

are based on the following information.

Seven persons — |, J, K, L, M, N and O - celebrate
birthdays, but not necessarily in the same order, in

seven different mont f the-same year), January,

February, March, quat ﬂ ﬁ]b
December. Each of them wears a different colored

—_—

dress among -R’Q, Yellow, Ora{ge, Purple, Bide,
Wh}te"and Gr/eeﬁ, but not necessarily in the same
order.

The one who wears White celebrates immediately
before L. O wears Orange( Qnly two persons
celebrate between nd L7) Only ong person
celebrate one_ Who wears Green.
J celebrates immediately after the one who wears
Green. Qnly threeper ate between J an

the_one who wears Blue. M _wears neither Blue nor
Green. | celebrates immediately before M- The one

who wears Red celebrates in the month which has
less than 31 days.w&
does not wear Yellow. K celebrates in the mon
which has Tess than 31 days.

11. In which of the following months does M celebrates?
(1) January (2) December (3) August
{4y October (5) June

12. How many persons celebrate between the months in
which O and the one who wears White?

(1) One (2) Three 3y Four
(4) Two (5) Five

13. Which of the following colors does the person wear,
whag gelebrates in March?
\,(A')/;urple (2) Orange (3) Blue
(4) White (5) Red

14. Four of the following five are alike in a certain way
and so form a group. Which of the following does not
belong to the group?
mir @J4 @ 4 M (5 O

15. Who among the following celebrates in January and

August? :
(1) LM L(Q)/OTI (3) LK

(4) MK %) L O
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*% Directions for questions 16 to 20: These questions

16.

17.

18.

19.

20.

are based on the following information.

Eight persons — P, Q, R, S, T, U, V and W — are
travelling by four different modes of transport — Bus,
Train, Flight and Car — to eight different cities —
Hyderabad, Bangalore, Chennai, Mumbai, Pune,
Calcutta, Bhopal and Indore. Atmost two people are
traveling by each transport.

1. Pis travelling by Bus to Mumbai.

2. Tis travelling to Indore but not by Flight.

3. R and S are travelling by Flight and Train.

4. One person is travelling by Bus to Bangalore.
5. Uis travelling by Car to either Chennai or Pune.
6. Sis travelling to Calcutta but not by Train.

7. Wi s travelling by Train to Hyderabad.

8. Qis travelling to Bhopal.

Who is travelling to Bangalore?

(Hvu (2 R

@) Vv 4 T

(5) Either (1) or (2).

By what and to where is R travelling?
(1) Car— Bangalore

(2) Train— Indore

(3) Flight— Hyderabad

(4) Train — Chennai

(5) Cannot be determined

By which transport is V travelling?
(1) Train

(2) Bus

(3) Flight

(4) Car

(5) Cannot be determined

Who are travelling by Car?

(1) Pand T (2) Qand U
(3) Pand Q (4) Tand U
(5) Vand W

Which of the following combinations is correct?
(1) R — Calcutta — Flight

(2) V- Hyderabad — Bus

(3) Q- Bhopal — Flight

(4) T—Chennai- Train

(5) V- Bangalore — Train



%% Directions for questions 21 to 25: These questions

21.

22.

23.

24.

25.

are based on the following information.

Seven persons - P, Q R, S, T, Uand V - attend a
meeting on the seven days of a week starting from
Monday to Sunday but not necessarily in the same
order. Each of the seven persons is from one of the
cities among Agra, Kochi and Surat. The following
information is known about them:

No two persons from the same city attend the meeting
on consecutive days.

R attends the meeting three days before one of the
persons from Agra attends. One of the persons from
Agra attends the meeting on Friday. Q attends the
meeting two days before R attends. No person
attends the meeting between Q and T. T attends the
meeting after one of the persons from Agra attends.
T attends the meeting immediately before one of the
persons from Surat attends. Q is not from Agra. V
attends the meeting before U, who is from Surat. The
number of persons who attend the meeting before S
is the same as the number of persons who attend the
meeting after one of persons from Kochi attends

Who is from Kochi?

(1) v (2) R 3) U
4 T ) P

On which day does U attend the meeting?
(1) Monday (2) Wednesday
(3) Friday (4) Saturday

(5) Thursday

Who attends the meeting on Monday?
(1 R 2 P 3) V
4) T () S

Four of the following five are alike in a certain way
and hence form a group. Find the one which does not

belong to that group.

(1) V, Kochi (2) R, Surat

(3) S, Agra (4) T, Agra

(5) Q, Agra.

Which city does V belong to?

(1) Agra (2) Kochi

(3) Surat (4) Either (2) or (3)

(5) Either (1) or (2)



*% Directions for questions 26 to 30: These guestions
are based on the following information.

Eight persons— A, B, C,D,E, F, Gand H — attend a
seminar on four months among March, June, July
and September on the two dates among 7™ and 9™
Only two persons attend seminar in each month. The
persons who like colour attends the seminar on the
prime-numbered date. The persons who like fruit
attends the seminar on the perfect square-numbered
date. The four colours are red, blue, white and
orange. The four fruits are apple, cherry, berry and
papaya. The following information is known about
them:

E attends the seminar before the person who likes
white colour attends. E likes colour and attends the
seminar after G. Two persons attends the seminar
between E and G. Neither A nor G like papaya. F likes
blue.

Only one person attends the seminar between F and
D. The person who likes orange attends seminar after
C attends. H and F atiend the seminar on the same
date. The number of persons who attend the seminar
before the person who likes berry is one less than the
number of persons who attend the seminar after the
person who likes papaya attends.

F attends the seminar either immediately before or
immediately after the person who likes cherry attends.



26.

27.

28.

29.

30.

On which day does the person who likes cherry
attend the meeting?

(1) 9™ June

(2) 9™ July

(3) 9™ September

(4) 9™ March

(5) Cannot be determined

Who likes apple?

(1) B

(2) The person who attends the seminar on 9* June.
3) G

(4) Both (1) and (2)

(5) A

Who likes berry?
MB @D B)G @F (B A

Four of the following five are alike in a certain way
and hence form a group. Find the one which does not
belong to that group.

(1) D,F (2) C,B

(3) E.H (4) H, G

{5) D,E

Which of the following combinations is true?
(1) D, orange (2) C, apple

(3) H, white (4) A, cherry

(5) E, red



